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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP3-6_0
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P3-6
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FRV (ml plant-1)

ET (ml/hr/plant)

P3-6_0, Day=58 (2025-05-26)
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P3-6

BfiE) | GEBEETIC (FD) | EHM=E (EAH/K) | XK R
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21| 4170.0 (15)%) 2250. 0 3 IWHKEC: 2080.0, PH: 5.9

large discrepency for begining water status (357:153.0), set to 357 ml.
#[ERECE (2323.0 vs 3280.0) RS



FRV (ml plant-1)
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P3-6_0, Day=57 (2025-05-25)
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P3-6

BfiE) | GEBEETIC (F)) | EM=E (BH/K) | KR R

07:00 273 150.0 = RRi&007:00 Bzh (RAEES)
07:40 273 150. 0 E| {Rig@07:40 Bzh (REERSE)
08:50 273 150.0 | 1Ri%e08:50 B (RFAERER)
09:40 273 150.0 E 1BRi&@09:40 Bzl (GRAEREE)
10:25 273 150. 0 E BRi&e10:25 Bz (GRAEREE)
11:05 273 150.0 =l BRiB@11:05 B (GREAERESE)
11:45 273 150.0 =l {Rige11:45 B3 (RAERSE)
12:20 273 150.0 =l RRiB012:20 B (REAKEE)
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15:40 273 150.0 E|  {Rige15:40 B3h (RE{EREE)
16:45 273 150.0 5| Rike16:45 Bz (REERS)
21t 3822.0 (14)%) 2100.0 3EHKEC: 2080.0, PH: 5.8

FHERECE (2223.0 vs 3553.0) RS
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T e g g g S g B B g g

100 A

50

200 4
150 -
100 -

50

VI, V?ga';RV’ ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 2288

1700 703
503

—_
©
o
o

©

o

©
T

N

o

o

o

- 1000

Warning: lcol [FVI',| "FVO’'] missing
-0

- 28

- 26 El

- 24

1.0

22

Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=5. 8

Warning: lcol ['PHB’,| 'PHC’'] missing

300 -

200 -

100 A

0 _El=-@l‘l——l7+5

]
Bylnit @D58 01:46: ET=2796 Fg=3600.0 Ro=714.0
- 4000

- 2000

0 1 2 3 4 6 7 8 9 10 11 12 13 14 7 18 19 20 21 22 23

400

6
e = = = = = = =
B B B B B B B B

B[ [ [ [/ [/ [ [/ ||| | ||| AR

300 -

200 -

100 A

0 1

- 4000
ByEt @56 19:11: ET=2848 Fg=1989. 0 Ro=nan

- 2000

0

2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

400

1
% | % | % | | | | | | | m | m | m | m | m | m | m|m| % (s|sn| ||| e

300 -

200 -

100 A

1.0 A

- 4000

ByWoFvi @D58 01:46: ET=1703 Fg=2100.0 Ro=458.0

\_/\/

t—8—+% - 2000
M |

0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

0.8

W | ®5 | W& | ®s | [ | [ | | m | | w | m | m | m | m | W[ W [Zm(zm| W[ W@

0.6

0.4+

0.2~

1808 3

1000 ~

500 -

—_—
[ ] | _obs
—@— PPFD obs

60

40

— RH )
[ ] RH_obs ’
[ ) RHo_obs

hour

FRV (ml d-1)

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



23.

26.

25.

25.

25.

25.

26.

26.

25.

25.

25.

26.

26.

26.

25.

25.

T T
800 1000

m=600,m FV0=0

T
600

—0— ME

665 6%0
m=765,n FV0=0

—o— M_E

7

7%0 7%5
m=940,n FV0=0

-o— M_E

i
i

945 950

25.

24.

24.

23.

26.

25.

25.

25.

25.

26.

26.

25.

25.

26.

26.

26.

26.

26.

25.

25.

m=465, FV0=0

M_E

4%0
m=645,n FV0=0

T
475

—o— ME

660
m=800,n FV0=0

T
655

—o— ME

865
m=990,n FV0=0

800

810

-o— ME

C

990 995

1000

26.

25.

25.

24.

24.

26.

25.

25.

25.

26.

26.

25.

25.

25.

m=495, FV0=0

- M_E

560 565
m=685,n FV0=0

495

—o— ME

6é0 6é5
m=845,n FV0=0

—o— ME

845 850 855

48

46 -

44

42

- MW

600 800 1000

25.

25.

25.

25.

25.

26.

25.

25.

25.

25.

26.

26.

25.

25.

25.

46.

45.

45.

44.

44.

m=555, FV0=0
—o— ME
8 .
6 .
4 .
2 .
0 .
555 560 565
m=730,m FV0=0
—o— ME
0 .
8 .
6 .
4 .
2 .
730 735 740
m=890,m FV0=0
—o— ME
2 .
0 .
8 .
6 .
4 .
890 895 900
m=465,m FV0=0
04 —@— MW
5 .
0 .
5 .
0 .
465 470 475




48.

48.

47.

47.

47.

47.

48.

48.

48.

48.

47.

47.

m=495, FV0=0

48

46

44

42

—— MW

495 560 565
m=685,n FV0=0

25 A

00 ~

75

50 A

25 A

00 ~

—— MW

6é5 BéO 665
m=845,n FV0=0

75 -

50 A

25 A

00 -

75 -

50 A

—— MW

845 850 855

m=535, FV0=0

47.75 A

47.50 -

47. 25 A

47.00 A

46.75

46. 50 -

—0—

M_w

555

5é0 5é5
m=730,n FV0=0

48.0 A

47.5 A

47.0 -

—0—

M_W

730

7é5 7&0
m=890,n FV0=0

49. 00 -

48.75 A

48. 50

48. 25 A

48. 00 -

47.75 A

—— MW

890

895 900

48.

48.

47.

47.

47.

47.

46.

48.

48.

48.

47.

47.

47.

49.

48.

48.

48.

48.

47.

m=600, FV0=0

25 A

00 ~

75 -

50 A

25 A

00 -

75

—— MW

T
600

665 6%0
m=765,n FV0=0

50 A

25 A

00 A

75

50 A

25 A

—0— MW

765

7;0 7%5
m=940,n FV0=0

00 ~

75

50 A

25 A

00 -

75 -

—0— MW

940

945 950

m=645, FV0=0

48. 00 -

47.75 A

47.50

47. 25 A

47.00 A

46.75

—0—

M_W

645

T T
650 655

m=800,m FV0=0

48.6

48. 4

48. 2 A

48.0 A

47.8 -

47.6 A

—o—

M_W

T
800

T T
805 810

m=990,m FV0=0

49. 2 -

49.0 A

48. 8 A

48.6

48. 4 -

—0— MW

0090

990

995 1000




hour

:55
145
140

100

80

- 60

- 40

§_

%

By

%
6\
%
7
e
BN
%y

%

\ R
N N
s,
Q\z\ Q’.Qé'

2
N
L

&

§

%,
&

W ’@(26_.?
%

%

3,



P3-6

BfiE) | GEBEIK (FD) | ElE (EH/HK) (KT R

06:45 278 150.0 FA| 1BRi%@06:45 Bzh (kAIEREE)
07:30 278 150.0 & =| 1Ri%@07:30 Bzh (KRABHEREEE)
08:20 278 150.0 |Z=| 1Ri%@08:20 Bzh (KAHEREEE)
09:25 278 150.0 [Z=| 1RiB009:25 Bzh (KREEREE)
10:20 278 150.0 & =| 1Ri%@10:20 Bzh (GRAHEREE)
11:15 278 150.0 & =| 1Rige11:15 Bzh (RAHERESE)
12:00 278 150.0 (Z=| 1Ri%@12:00 Bz (GREEHSE)
12:40 278 150.0 (x| {Ri%e12:40 B (KRR
13:25 278 150.0 FA| {Ri%@13:25 Bz (GRAEEE)
14:15 278 150.0 FA| {Ri&@14:15 Bz CGRAEREE)
14:55 278 150.0 FH| 1Bige14:55 Bzl (GRAEREE)
15:45 278 150.0 FA| 1BRi%@15:45 Bzh (RAERSE)
16:40 278 150.0 FR| {Ri%@16:40 Bz (GRAEEE)
23t 3614.0 (13%) 1950. 0 3ZHKEC: 2080.0, PH: 5.6

##[EKECE (2080.0 vs 3757.0) i d 5




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-6_0, Day=55 (2025-05-23)
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Warning: lcol [FVI',| "FVO’'] missing

Warning: lcol ["WC1',  "WC2'] missing
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Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=5.6

Warning: lcol ['PHB’,| 'PHC’'] missing
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P3-6

BfiE) | BRI (D) | EE (EH/AR) | XK R

06:15 278 150.0 | =| 1Ri%e06:15 B (kAEREE)
07:15 278 150.0 & =| 1Rige07:15 Bzh (kBEREEE)
08:15 278 150.0 & =| 1Ri%e08:15 Bz (KAEREE)
09:15 278 150.0 FA| 1BRi&@09:15 B3h (FKAEREEE)
11:00 278 150.0 PA| {Ri%e11:00 Bz CGRAKEESE)
12:30 278 150.0 FA| 1BRi%@12:30 B3h (RAERESE)
13:55 278 150.0 FA| 1BRi%@13:55 B3h (KRAERSE)
15:35 278 150.0 FA| 1Bi&@15:35 B3 (RAEREE)
2it]2224.0 (8%) 1200. 0 3203 KEC: 2080.0, PH: 5.6

large discrepency for begining water status (410:150.0), set to 410 ml.
FEEIKRECE (2040. 0 vs 4110.0)53 5
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P3-6_0, Day=54 (2025-05-22)
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